K 2K B TOREBREBRKRUAZ
0 MPallT

80 T UT

1.

—kMEA (P1)
REE N (Pa)

15
15
19

10

15
90

16
18

95
100
125

155

He
318

Hi
10

196
200
200

S &TY)

25
25
25

1/
3/4

LAUR::
15
20
25

T F (e ()

I
HITTTE THTHE =] [R
b= E b NE 4h
< &= < <P ¥
- = . | e £ "
- SE N &
= “@uﬁ
—| | | | o <+ en| <+« | o] S| <+ | O] <a1| | 1| o] co| 1| < <H{ <! - "J
ol olalelORo| |o|9la|? S e e e P Axwm
| = 155115 Pyt N | btz O Ol 2|
ol @ N NS 9] |92« <|<d ||z« w
alo Ol el || Ol ol en| v e | v w| Olalal<a] o ol<at o] el ] Ny
== -+ m_
|~ =SSN X s 252 L P B 0 ey 23 IR I DN ENN RN EE 225 [ B2 B=
oo > =~ = ™ I ES
22 /\Jl/ Anﬂunw/WII H&QN ://A./ix\/ - -— AW\.V
e el Nl e 7_?,\“/ ~ JUR Y I I
™| . = | = R = e 2 ~
F:u o T o ] g
= 554<| O <l fH BB | | 1| sl T T | O Ik | = L
. <+
1= O o _
52 € o o ottt A ol =
|
o ol
L= =
[P
=
=
<
o
[N
it
=
=
=
&
¥ 28| | — ,
= oo i
= ==
< =R =
= = = &
X um%._”_mm £
o s me| | [srslae -
— [
=y
[4p]
QER) =
a8
/Ww N
== /
’ Sm g
N popn
= - L w = [
r,.ll 2 B4 S ﬁ.

\ e
VA 2




